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(@  How can you incorporate risk in capital budgeting

decisions ?
4
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A company is considering computerization of its
inventory and billing procedures at a cost of 2,00,000.
Installation charges are ¥ 50,000. These outlays will be
depreciated on a straight-line basis to zero book value
which will also be its salvage value at the end of its
life of 5 years. The new system will require two
Computer specialists with annual salaries of ¥ 40,000

per person. It is also estimated that annual maintenance

expenses of ¥ 12,000 will have to be @d. The new
system will lead to reduced pr@ion delays, ~thus
saving ¥ 20,000 annually. It \%&o help to avoid stock
out cost of ¥ 25,000 per @ Timely billing will increase
inflow by ¥ 8,000 per year. Six clerical employees, with
_annual salaries of ¥ 20,000 each, will also become
redundant. The company’s tax rate is 30% and required
rate of return is 12%. Evaluate the project.

What will be your decision if salvage value is taken

as T 30,000 for purpose of calculating depreciation, even

though the machine will be worthless in terms of resale
value after 5 years ? 11
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Critically evaluate the payback method for evaluation

of long term projects. 4

Able Electronics is considering a proposal to replace
a machine which was bought three years ago for
¥ 10,00,000. It has a remaining life of 5 years after which

it will have no salvage value. But if it is sold now,

PTO.
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it will realize ¥ 6,00,00(_). Its maintenance cost is expected
to increase by T 50,000 p.a. from the sixth year of its
installation. A new, more efficient machine is available
» for ¥ 15,00,000. This machine can be sold for 6,00,000
after completing its life of 5 years. This new machine
will lead to increased productivity, thereby increasing
the revenue by ¥ 1,50,000 p.a. It will also reduce
operating expenses by ¥ 1,00,000 p.a. The company's
tax rate is 50% and cost of capital is . It uses
straight line method of depreciation. A@%éiﬁ company
about the replacement. Q(§)

A
What will be your decisior§§§ expected salvage value

of the new machine is ¥ 2,00,000 7 11
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() What do you understand by. Agency problem ? How
can it be resolved ? : 4
() Prepare the income statements from the given financial
data for Company A and Company B for the year ended
31st March 2017. Also comment on their financial
position. - , '_ 11
Particulars Company A | Company B
Variable expenses as % of sales 66.7 79
Interest (in Rupees) 200000 | 3,00,000
Degree of operating leverage 5 6
Degree of financial leverage 3 4
Income tax rate 035 035

() o FY guem ¥ A9 T OIS § 2 @

Y %W fewr W W@ §O?
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(@)  “A rupee of today is r@equal to-a rupee of tomorrow.”
Explain. 4

(b)  Calculate the overall cost of capital of Sushant Ltd. from

the information given below using book value weights

and market value weights : 11
Book Value Market Value
® ®
4,00,000 6,40,000

Equity Shares of ¥ 10 each
12% Preference Shares of ¥

100 each 1,00,000 75,600
(Redeemable at par after 10 years)
11% Debentures of ¥ 100 each 2,50,000 2,25,000
(Redeemable at par after 5 years)
Reserves 1,00,000 —

()

(%)
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Last year the company paid a dividend of ¥ 2.20 per
share. It 13 expected to declare a dividend of T 2.42
per share. The company has been maintaining the
growth rate in dividends over the years and is expected
to do so in future. Tax rate is 40%.

A H TF T FA H UF TIY HOIER
T g =rEn Fe
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Discuss the different approaches to fmancirllg of working

capital. 4

From the following information estimated by Swastik Ltd

for the next year, calculate the working capftal required

on cash cost basis -

$
N :
N
Sales (at gross profit of @; 27,00,000
Q 7 b

Raw materia] @ 6,75,000
Wages 5,40,000
Manufacturing Expefises dutstanding
at the end of the year 60,000
Total Administrative Expenses 1,80,000
Total Selling Expenses 90,000
Desired cash balance 1,00,000

Finished goods and raw material are kept in stock to
meet [ month's requirement. The company gives a credit
of 2 months to its customers and gets a credit of
2 months from its suppliers. Wages are paid with a
time lag of 15 days. All other expenses are paid with

a time lag of 1 month. There is no work in progress.

( 9 ) | 7007

The company includes depreciation in its cost of
produetion. Finished goods are valued at manufacturing
cost. A safety margin of 15% is to be maintained. 11

() v G @ fm G @ fafee e #

C)

faae FQ

e o @ foq @few fo. g ergAi
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T R YEART WA 1 15% B GRET WA
TR @

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

( 10 ) 7007
OrFgAT)
fa)  What are the different motives of holding cash 7 4

(b) A company manufactures 1,00,000 units of a product
annually from a raw material which is purchased at
¥ 60 per kg It incurs a handling cost of ¥ 200 and
freight of T 550 per order. The inventory carrying cost
of the raw material is 7 0.75 per kg per month. In
addition, cost of working capital ﬁn@:e on the
investment in inventory is T 6 per k &@annum. One

kg of the raw material can pmd@e 2.5 units\of the

&
product. Calculate : Q\Q

N

(i) Economic Order O&ity
(iiy Frequency of ordering

(i17) 1f the company wantS t0 place orders on quarterly
basis, what percentage of discount on the price
of raw material should be negotiated ? 11

(2 TFE AR % fatvm mEwm o R0
() TE FEA T 9F 8 FEE 1,00,000 32 TR
T 7 58 7 60 ¥ fEen % o 8 =W
w7550 31 B AW TH R @A A
7075 5 B wfmm % R gem A
3 fom om T B fEm R AT g 6
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What are the different approaches to calculation of cost

of equity ? 4

A company needs to raise ¥ 10,00,000 for a new project

which is expected to yield an annual EBIT of Z 1,60,000.

- It is considering a possibility of issuing equity shares

along with some amount of debt, It has an option of
raising a debt of ¥ 1,00,000, Z 4,00,000 or T 6,00,000.
Debt is available to the company at the rates indicated
below :

Upto ¥ 1,00,000

8%
Over ¥ 1,00,000 and Upto T 5,00,000 - 12%
Over ¥ 5,00,000 ' 18%

Current market price of its equity share is ¥ 25 which
is expected to drop to T 20 if funds are borrowed in
excess of T 5,00,000. Tax rate for the company is 50%.
Suggest the best financing alternative. Also calculate

financial break even point for all the three options. 11
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What behavioral justification is given by the MM

approach to prove their hypothesis about the capital

4
structure decision ?

() Company X and Company Y are in the same risk class

and identical in all respects except that Y uses debt

( 13 ) 7007

of ¥ 2,00,000 carrying an interest of 12%, whereas X
is'an all equity firm. Both companies earn a return of

20% on their assets of ¥ 4,50,000.

() Calculate the value of both the companies and

their overall cost of capital under the net income

approach taking cost of equity as 15%.

(i) Calculate value of both the companies and equity

capitalization rate using NOI approach taking

overall cost of capital as 15%.

(fi) Compare the results and comment on the

differences. 11

(30) ISt W= fofa & o F s wheer =y
fag + % fu MM SITm g/ T =EERE
stfem e s ¥ 2
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(@) What do you mean by informational content of
dividend ? 4

(b) The following information for the current year «about
- XYZ Ltd. is available to you :X\Q'Q

Eamings of the Firm &Q‘\ T 18,00,000
&

No. of equity shares Q\Q 3,00,000
Amount of dividentd)paid £ 9,00,000
Return on Investment 22.5%
Cost of Equity 15%

() Calculate the present price of the share and value
of the firm using Walter's Model.

(i) Is this the optimum payout ratio ? If not, what
is the optimum payout ratio ? What is the value
of the firm at this payout ratio ?

(iii) What is the payout ratio at which value of the
firm will be lowest ?

(iv) What should be the payout ratio if the firm wants
to keep its share price at ¥ 55 ?

(v) When will the firm be indifferent about payment
of dividend ? il
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Discuss the determinants of the dividend policy of a

© company. 4

Relay International belongs to the risk class for which |
the appropriate capitalizéﬁon rate is 10%. It currently
has 1,00,000 equity shares of ¥ 80 each. It is‘thinking
of déclaring a dividend of T 4 -per share at the ‘end
of the year. It is expecting a@et income, of ¥ 8 lakh

'and an investment propoéf\xequmng an investment of

% 15 lakh. Show tha@er MM assumpt1ons payment -
of d1v1dend doe%ﬁo affect the value of the ﬁrm now

and after th sue of new shares. 11

(a)ﬁﬁﬁmﬁaﬁwwﬁﬁ%ﬁﬁwﬁﬁw
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